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2.35 [ AzP4% ol @ 9ol 4 ] a a v
P = 100 N, @Q =150 N, & =200 N 3 p
a = 35°, B = 30°, S
vy =« + g =35°+ 30° = 65° Q
= P cosa + @ cosy — S cosa
= (100 N) cos35° + (150 N) cos65° - (200 N) cos35°
= (81.92 N) + (63.40 N) - (163.83 N) = -1851 N
R, =P+ Q@+ 5 R.
= -P sina - @ siny - S sina 0
= —(100 N) sin35° - (150 N) sin65° - (200 N) sin35°
= —(57.36 N) - (135.95 N) - (114.72 N) = -308.03 N
R=R*+R’ = V(-1851N) + (—308.03N)’ = 308.59 N R™ VR
R, —308.03N i}
_ Y — — — 1 — o
tanf = R TISEIN 16641 = 6 = tan '(16.641) = 86.56
R = 309 N v86.6°
2.36 [ HZAE st o3 ge] A |
7 = 365 N y
P = 500 N, @ = 200 N p
tana = %= 11458 = o = tan"'(1.1458) = 48.89° .
X
S -4 23 @ ¢
cosfg = 55 sinf 55 Ccosy 5 sin-y 5
R, =T, + P, + Q T Q
= -T cosa + P cosp + @ cosy
= —(365 N) cos48.89° + (500 N) % + (200 N) %
= —(240.0 N) + (480 N) + (160 N) = 400.0 N
Ry = Tx + Pz + Qz '
_ . . . 0 R«
= —T sina + P sinf - @ siny
_ . o o 3
= —-(365 N) sin48.89° + (500 N) o5 (200 N) 5 R, R

= -(275.0 N) + (140 N) - (120 N) = -255.0 N

R= R+ R’ = V{400.0N)* + (—255.0N)* = 474.4 N
R, _ —255.0N
R, 400.0 N

R = 474 N %32.5°

tanf =

= -0.6375 =

0 = tan '(-0.6375) = -32.52°



